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UNITE 6

Incremental analysis
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After studying this unite, you should be able to :
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1-Determine the steps in in management's decision-making
process.

DAl pual A8l aualia aa (Y
2-Define cost concepts for decision making.
(Loaliil) Jlall o geba Camy (¥
3-Describe the concept of incremental analysis.
sala sy s J gl Alall <l CallSall s (€

4-Determine the relevant costs in accepting an order at a special
price.
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Management's decision-making process frequently involves the following
steps:
Al 5 el st g AL a3 ()
1) Identify the problem and assign responsibility
. Aalia) Jila ASeall Jardl € jlsa gy a5 (Y
2) Determine the available start work available .
L olB sl (Y
3) Make a decision.
- AN il Aea) e (8
4) Review results of the decision

When making decisions, management usually considers financial and

non-financial information Basic concepts of cost in differential analysis

The following are three important cost concepts used in differential

analysis: In additional analysis, the only factors that must be taken into

account are those costs and revenues that differ Via alternatives. These
related factors are called appropriate costs).
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Basic concepts of cost in incremental analysis

¢ il Jalatl b 035 RS daga pualie 3G L Lah

The following are three important cost concepts that are used in
< incremental analysis
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[ In the additional analysis, the only factors to be taken into
account are those costs and revenues that differ across the
alternatives. These related factors are called (appropriate costs) and
(appropriate revenues). Costs and revenues that do not differ across
alternatives can be ignored when trying to choose between
.alternatives

[1 Often when choosing one (alternative) business path, the
company must give up the opportunity to benefit from another
(alternative) business path. This lost benefit is referred to as
.opportunity cost, opportunity cost

1 Costs that have already been incurred and will not be changed or
avoided in any future decision are referred to as sunk costs, and
sunk costs are not costs related to the decision and are therefore
.described as inappropriate costs
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Incremental analysis involves not only identifying relevant revenues and
costs but also determining the probable effects of decisior on future
earnings ¢ Data for incremental analysis often involves estimates and
uncertainty Gathering data may involve market analysts, engineers, and

.accountants
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Alternative Alternative Net icome
A B Increase
(decrease)
Revenues $ 125,000 $ 110,000 $ (15,000)
Costs $ 100,000 $ 80,000 $ 20,000
Net income $ 25,000 $ 30,000 $ 5000

(15000) $110000 $125000 )
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Example:

To illustrate, assume that Sunbelt Company produces 100,000 automatic blenders L3
= &S per month, which is 80% of plant capacity. Variable manufacturing costs are
$8 per unit, and fixed manufacturing costs are $400,000, or $4 per unit. The blenders
are normally sold to retailers at $20 each.

Question: Sunbelt has an offer from Mexico Co. to purchase an additional 2,000
blenders at $11 per unit. Acceptance of this offer would not affect normal sales of the
product, and the additional units can be manufactured without increasing plant

capacity.
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Reject order Accept order Net icome
Increase
(decrease)
Revenues $-0- $ 22,000 $ 22,000
Costs $ -0- $ 16,000 $16,000
Net income $ -0- $ 6,000 $ 6000

The decision made or purchase - : £/ ddl pf gical] 4/ 4 - ¥
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Example:

Al-Khabur Company operates 75% of its production capacity, which paid
240 dinars per bases used in their production. Confirms sales forecasting
future that normal production will remain within the limits of 75% of
production capacity.

The company is considering the production of 20,000 base rather than
buy them as a way to use idle capacity and the estimated costs necessary
to produce the 20,000 bases as follows : -

The cost of direct materials 1,260,000

The cost of direct labor 2,190,000

Variable F.O.H 600,000
Spatial fix F.O. H 1,650,000
Total costs of industrial 5,700,000
+ 20,000
Per unit cost 285 dinars

In the case of purchase the fix industrial costs can be reduced by 150,000
dinars.
Required: Are the bases manufacturing or purchased from abroad.
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Solution

Data making bases | Purchase bases Differential

analysis

The cost of direct materials VYT v — AR
The direct labor cost YNG e ven S Y9 v

Variable F.O.H IXERER e e

Spatial fix F.OH 1,100 v V, 00 v Vou e
purchase costs Y« -« S— E A s (£,A00,000)
Total costs DARRER IARERER (Tee,vee)

; EUY) bghi da) dlasia) gf diLa) )48 -1

The decision to add or exclude production lines
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For example: -

e gl ) AaY) o2a

The Abu Ghraib industry Dairy operates three lines: line (a) cream, line
(b) milk, line (c) Cheese. The income statements for each line during one

year as following: -

Data/ Line A Line B Line C Total

Sales Yoo oo YVou e V,0ue v YO s

Variable cost Y ouu v VYo v AYO v RTRE

Contribution margin Y, 00 v Yoodo v R AEERE

Industrial fixed costs ALK Yoo s VYO v Y.YVO us
and administrative

Net income EERER ¥yo e (O+,00 ) AR

Note that if the line was stopped (c) can be avoided in the amount of
515,000 dinars from the fixed costs and the remaining costs cannot be

avoided.
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Solution: -
Data Investment Total | stopped (c) Differential analysis
Sales ALERER AT V,0u0n e
Variable cost YooTe ves Y,YYOo v AYO v
Contribution margin AR Y000 vun Vo v
Industrial fixed costs ARACER IRAXIERE SEREE
and administrative
Net income 10 v v Voo v R

8 _alil) 2 ) gal) (amadl g GC\.\'N JiaY) @}d‘ Jkaal Jbﬁ -¢
Decision to choose the optimal mix of production and allocation of
scarce resources
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Example: -
Sewing company produces two types of clothing boy and Girls was
calculated contribution margin per piece of these two products as follows:

Data clothing boy Clothing Girls

Sealing price Ous Veus
Variable costs: -

Direct materials V00 Y4

Direct labor Youu VYo

Additional variable expenses Y, 0 Y Ao

Administrative expenses o Yoo

Contribution margin per piece XR Yoo
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Data clothing boy Clothing Girls
Contribution margin per piece dinar ©+ - dinar Y+
Machine working hours required for each hour Y hour ©
piece
Contribution margin for each hour of work | dinar/ hour Ye. | dinar/hour Y-
machine
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